
 

147 15211 D t tr Hed t 100

Ilm particle on a

sphere
Lz
2h o

hi 112
ok Ye deg 1107 I too

e.E.inmemhesp

L Lz 4pmb eigen Eth Eld
4 2

degeneracy any operator
heal eigenvalue

talent mk lend

any shame in deg Lz



i

147 tutty Ntfs107 tired of

14dm HEH Mem

prob
242 b I Yz t Yz Eg

ohh 1 0 1 6

47 Epub eigen E Zhi Ico
The Ehr

Hts t l

Ellen EEelettlem

H LE particle on sphene
e



m2h2

IE
H Lz

o
Hringi.LI77

Hringlem7 mII7em7

147 _all in blind
degenerate Lz H partideon
not Degan L2 ring

Elem lHtDh4dm

aw I

o
Hsphene

t

Hsphenellms Fella
lCltDh2
Sellout



147 all m tblh.net
not deg for H E padthusepwe

deg for Lz Ser

Bot
147 all my tbllzm7
4Cllzmz

44,94 R Coleco

H them FTIIthem
t electronic R

147 1211 I t Hit 10kg0

lenny



4

i

Method 3

147 id

f I

147statevec.to

4147 or ag
representation
state

are
Vector

spin the ZDIii

3 Cs


